Whitman College

Econ 448

Final Exam

May 14, 2009

Write all answers in your blue book.  Show all of your work.  The exam ends at 11:30am.

1. Suppose that uncovered interest parity holds.  Assume that in the short run, prices on average are not flexible, but interest rates are.   

Read parts (a) through (c) before you answer any of these questions.

(a)  (10pts)  Draw a Keynesian Cross diagram for an open economy, when the domestic interest rate is i1.  On your diagram, be explicit about each of the components of aggregate demand.  Label with an (A) the goods market equilibrium.  

(b)  (20pts)  Suppose now that the interest rate in this country rises to i2.   Derive an open-economy IS curve.  In your derivative, use the diagram from part (a) and also use a diagram for the foreign exchange market.   Explain, in words, what you are doing as you derive the IS curve.  On your IS curve, label with an (A) the goods market equilibrium when the interest rate is i1. Label with a (B) the goods market equilibrium when the interest rate is i2. On your foreign exchange market diagram, label with an (A) the equilibrium when the interest rate is i1.  Label with a (B) the equilibrium when the interest rate is i2.

(c)  (10pts)  Place a (C) on your IS curve diagram to indicate where the goods market equilibrium would be at the interest rate i2 , if this were a closed economy.   Explain your reasoning.

2. (25pts)  Consider a country with a fixed exchange rate regime.  Suppose this country is in a recession.  With reference to an open-economy IS-LM diagram and a foreign exchange market diagram, describe what happens if this country uses fiscal policy to return output to potential.

3. (25pts)  Consider a country with a flexible exchange rate regime.  Suppose this country is in a recession. With reference to an open-economy IS-LM diagram and a foreign exchange market diagram, describe what happens if this country uses fiscal policy to return output to potential gross domestic product.

4.  (15pts)  According to Federal Reserve Chairman Ben Bernanke, in his speech to Morehouse College on April 14, 2009, what role did international finance markets play in the current global financial crisis?

5.  (35pts)  Define and describe the First Generation explanation of the causes of exchange rate crises.  As carefully and thoroughly as possible, describe what triggers a speculative attack.  When exactly does the attack occur?  Refer to equations and diagrams in your explanation.

6.  (a) (10pts)  Draw and label the triangle that represents the trilemma.  

(b)   (15pts)  Consider the information in the following article, and on the exchange rate graph below.  Based on this information, indicate on your trilemma diagram where Iceland is now.  Explain your reasoning.  

Iceland Focus Is on Stability

Wall Street Journal, May 12, 2009

BASEL, Switzerland -- Iceland probably will need to keep its capital controls in place for some time, with the Central Bank of Iceland aiming to start dismantling them in 2010, said the bank's governor, Svein Harald Oygard.

In an interview on the sidelines of meetings at the Bank for International Settlements, Mr. Oygard said the bank's No. 1 priority was currency stability and its second was interest-rate cuts. He said Iceland could achieve the criteria for euro adoption in four years, but it was also possible to rebuild confidence in Iceland's currency, the krona.

Last year, Iceland agreed on a rescue program after its economy was hit hard by the financial crisis. Under that plan, the country agreed to accept funds from the International Monetary Fund, among other institutions.
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(c)  (15pts)  What are the criteria for euro adoption?  What is the European Union’s reasoning for having these criteria?

(d)  (20pts)  What are the advantages and disadvantages of adopting the euro, for a country like Iceland?
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